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% Uz Ustab [ Ureg | Imin -~ max
T. 1
v v ! v mA
G2S9 STCS 1 180 155 2+ 8
G 150/]K STCE 2 130 110
GR 150 E DGL 3 175 128 = 142 3+10
GR 150/H DGL 3 200 138 = 152 612
GR 150/K DGL 2 200 140 15 max
M 8163Y) Mul 4 180 143 = 147 5=+15
QS 1203y) EEV 5 180 150 4,5 2+15
Crss CCcCp 8 180 142 = 157 4 5+10
STV 150/15 eur 6 200 140 — 160 14 1+15
105 A 1 Phl 7 205 155 = 175 4 1+ 8
150 A 1 Phl 7 205 144 ~ 164 8 ' 1+ 8
150 B 1 Mul — 150 \ 5+15
150 B 2 eur 4 180 146 = 154 5 5+15
7678 Phli 9 150 125 = 140 1+10
13204 Phl 7 150 120 + 140 5 max
1) vide * 4
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Equivalents + R —a 2 .
M 8208Y) Mul = M 8163 Ustap
QS 1200 EEV = 150 B2 . _
StR 150/15 RFT = 150 B2 WAL
4= min *lmax
. 7
1) vide * 4
1 4 2 3 4 A
4 A K
6259 GI50/k 6R50/E 15082
6 7 8
4
A K
I's
STV450/15 150A1
Usta ' ! T
pne -19 = 9 t(f} 15082 }1 A
1 = i
STV \ RW e
15045 . M8163 g M8208 < priay
3 15082 S Q81203 . // el
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